
Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 1 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 1.170

2. 560

3. 420

4. 540

5. 560

6. 420

Dùng cách chia mảng để giải bài tính.

1) 39×30 =

30

30

(30 × 30)
900

9 (9 × 30)
270

2) 28×20 =

20

20

(20 × 20)
400

8 (8 × 20)
160

3) 21×20 =

20

20

(20 × 20)
400

1 (1 × 20)
20

4) 27×20 =

20

20

(20 × 20)
400

7 (7 × 20)
140

5) 20×28 =

20

20

(20 × 20)
400

8

(20 × 8)
160

6) 20×21 =

20

20

(20 × 20)
400

1

(20 × 1)
20



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 1

Câu  trả  lờ i

1. 1.170

2. 560

3. 420

4. 540

5. 560

6. 420

Dùng cách chia mảng để giải bài tính.

1) 39×30 =

30

30

(30 × 30)
900

9 (9 × 30)
270

2) 28×20 =

20

20

(20 × 20)
400

8 (8 × 20)
160

3) 21×20 =

20

20

(20 × 20)
400

1 (1 × 20)
20

4) 27×20 =

20

20

(20 × 20)
400

7 (7 × 20)
140

5) 20×28 =

20

20

(20 × 20)
400

8

(20 × 8)
160

6) 20×21 =

20

20

(20 × 20)
400

1

(20 × 1)
20

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 2 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 420

2. 540

3. 460

4. 540

5. 580

6. 500

Dùng cách chia mảng để giải bài tính.

1) 21×20 =

20

20

(20 × 20)
400

1 (1 × 20)
20

2) 27×20 =

20

20

(20 × 20)
400

7 (7 × 20)
140

3) 20×23 =

20

20

(20 × 20)
400

3

(20 × 3)
60

4) 20×27 =

20

20

(20 × 20)
400

7

(20 × 7)
140

5) 20×29 =

20

20

(20 × 20)
400

9

(20 × 9)
180

6) 20×25 =

20

20

(20 × 20)
400

5

(20 × 5)
100



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 2

Câu  trả  lờ i

1. 420

2. 540

3. 460

4. 540

5. 580

6. 500

Dùng cách chia mảng để giải bài tính.

1) 21×20 =

20

20

(20 × 20)
400

1 (1 × 20)
20

2) 27×20 =

20

20

(20 × 20)
400

7 (7 × 20)
140

3) 20×23 =

20

20

(20 × 20)
400

3

(20 × 3)
60

4) 20×27 =

20

20

(20 × 20)
400

7

(20 × 7)
140

5) 20×29 =

20

20

(20 × 20)
400

9

(20 × 9)
180

6) 20×25 =

20

20

(20 × 20)
400

5

(20 × 5)
100

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 3 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 520

2. 440

3. 580

4. 580

5. 500

6. 560

Dùng cách chia mảng để giải bài tính.

1) 26×20 =

20

20

(20 × 20)
400

6 (6 × 20)
120

2) 20×22 =

20

20

(20 × 20)
400

2

(20 × 2)
40

3) 29×20 =

20

20

(20 × 20)
400

9 (9 × 20)
180

4) 20×29 =

20

20

(20 × 20)
400

9

(20 × 9)
180

5) 25×20 =

20

20

(20 × 20)
400

5 (5 × 20)
100

6) 20×28 =

20

20

(20 × 20)
400

8

(20 × 8)
160



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)
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Câu  trả  lờ i

1. 520

2. 440

3. 580

4. 580

5. 500

6. 560

Dùng cách chia mảng để giải bài tính.

1) 26×20 =

20

20

(20 × 20)
400

6 (6 × 20)
120

2) 20×22 =

20

20

(20 × 20)
400

2

(20 × 2)
40

3) 29×20 =

20

20

(20 × 20)
400

9 (9 × 20)
180

4) 20×29 =

20

20

(20 × 20)
400

9

(20 × 9)
180

5) 25×20 =

20

20

(20 × 20)
400

5 (5 × 20)
100

6) 20×28 =

20

20

(20 × 20)
400

8

(20 × 8)
160

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 4 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 990

2. 460

3. 420

4. 540

5. 520

6. 580

Dùng cách chia mảng để giải bài tính.

1) 33×30 =

30

30

(30 × 30)
900

3 (3 × 30)
90

2) 20×23 =

20

20

(20 × 20)
400

3

(20 × 3)
60

3) 20×21 =

20

20

(20 × 20)
400

1

(20 × 1)
20

4) 20×27 =

20

20

(20 × 20)
400

7

(20 × 7)
140

5) 20×26 =

20

20

(20 × 20)
400

6

(20 × 6)
120

6) 29×20 =

20

20

(20 × 20)
400

9 (9 × 20)
180



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)
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Câu  trả  lờ i

1. 990

2. 460

3. 420

4. 540

5. 520

6. 580

Dùng cách chia mảng để giải bài tính.

1) 33×30 =

30

30

(30 × 30)
900

3 (3 × 30)
90

2) 20×23 =

20

20

(20 × 20)
400

3

(20 × 3)
60

3) 20×21 =

20

20

(20 × 20)
400

1

(20 × 1)
20

4) 20×27 =

20

20

(20 × 20)
400

7

(20 × 7)
140

5) 20×26 =

20

20

(20 × 20)
400

6

(20 × 6)
120

6) 29×20 =

20

20

(20 × 20)
400

9 (9 × 20)
180

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 5 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 1.290

2. 960

3. 460

4. 500

5. 480

6. 440

Dùng cách chia mảng để giải bài tính.

1) 43×30 =

40

30

(40 × 30)
1.200

3 (3 × 30)
90

2) 32×30 =

30

30

(30 × 30)
900

2 (2 × 30)
60

3) 20×23 =

20

20

(20 × 20)
400

3

(20 × 3)
60

4) 25×20 =

20

20

(20 × 20)
400

5 (5 × 20)
100

5) 20×24 =

20

20

(20 × 20)
400

4

(20 × 4)
80

6) 22×20 =

20

20

(20 × 20)
400

2 (2 × 20)
40



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 5

Câu  trả  lờ i

1. 1.290

2. 960

3. 460

4. 500

5. 480

6. 440

Dùng cách chia mảng để giải bài tính.

1) 43×30 =

40

30

(40 × 30)
1.200

3 (3 × 30)
90

2) 32×30 =

30

30

(30 × 30)
900

2 (2 × 30)
60

3) 20×23 =

20

20

(20 × 20)
400

3

(20 × 3)
60

4) 25×20 =

20

20

(20 × 20)
400

5 (5 × 20)
100

5) 20×24 =

20

20

(20 × 20)
400

4

(20 × 4)
80

6) 22×20 =

20

20

(20 × 20)
400

2 (2 × 20)
40

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 6 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 460

2. 560

3. 480

4. 520

5. 500

6. 480

Dùng cách chia mảng để giải bài tính.

1) 20×23 =

20

20

(20 × 20)
400

3

(20 × 3)
60

2) 28×20 =

20

20

(20 × 20)
400

8 (8 × 20)
160

3) 24×20 =

20

20

(20 × 20)
400

4 (4 × 20)
80

4) 26×20 =

20

20

(20 × 20)
400

6 (6 × 20)
120

5) 20×25 =

20

20

(20 × 20)
400

5

(20 × 5)
100

6) 20×24 =

20

20

(20 × 20)
400

4

(20 × 4)
80



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 6

Câu  trả  lờ i

1. 460

2. 560

3. 480

4. 520

5. 500

6. 480

Dùng cách chia mảng để giải bài tính.

1) 20×23 =

20

20

(20 × 20)
400

3

(20 × 3)
60

2) 28×20 =

20

20

(20 × 20)
400

8 (8 × 20)
160

3) 24×20 =

20

20

(20 × 20)
400

4 (4 × 20)
80

4) 26×20 =

20

20

(20 × 20)
400

6 (6 × 20)
120

5) 20×25 =

20

20

(20 × 20)
400

5

(20 × 5)
100

6) 20×24 =

20

20

(20 × 20)
400

4

(20 × 4)
80

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 7 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 960

2. 460

3. 500

4. 520

5. 440

6. 420

Dùng cách chia mảng để giải bài tính.

1) 30×32 =

30

30

(30 × 30)
900

2

(30 × 2)
60

2) 20×23 =

20

20

(20 × 20)
400

3

(20 × 3)
60

3) 25×20 =

20

20

(20 × 20)
400

5 (5 × 20)
100

4) 26×20 =

20

20

(20 × 20)
400

6 (6 × 20)
120

5) 22×20 =

20

20

(20 × 20)
400

2 (2 × 20)
40

6) 20×21 =

20

20

(20 × 20)
400

1

(20 × 1)
20



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)
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Câu  trả  lờ i

1. 960

2. 460

3. 500

4. 520

5. 440

6. 420

Dùng cách chia mảng để giải bài tính.

1) 30×32 =

30

30

(30 × 30)
900

2

(30 × 2)
60

2) 20×23 =

20

20

(20 × 20)
400

3

(20 × 3)
60

3) 25×20 =

20

20

(20 × 20)
400

5 (5 × 20)
100

4) 26×20 =

20

20

(20 × 20)
400

6 (6 × 20)
120

5) 22×20 =

20

20

(20 × 20)
400

2 (2 × 20)
40

6) 20×21 =

20

20

(20 × 20)
400

1

(20 × 1)
20

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 8 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 640

2. 1.110

3. 440

4. 580

5. 460

6. 560

Dùng cách chia mảng để giải bài tính.

1) 32×20 =

30

20

(30 × 20)
600

2 (2 × 20)
40

2) 30×37 =

30

30

(30 × 30)
900

7

(30 × 7)
210

3) 20×22 =

20

20

(20 × 20)
400

2

(20 × 2)
40

4) 20×29 =

20

20

(20 × 20)
400

9

(20 × 9)
180

5) 23×20 =

20

20

(20 × 20)
400

3 (3 × 20)
60

6) 28×20 =

20

20

(20 × 20)
400

8 (8 × 20)
160



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 8

Câu  trả  lờ i

1. 640

2. 1.110

3. 440

4. 580

5. 460

6. 560

Dùng cách chia mảng để giải bài tính.

1) 32×20 =

30

20

(30 × 20)
600

2 (2 × 20)
40

2) 30×37 =

30

30

(30 × 30)
900

7

(30 × 7)
210

3) 20×22 =

20

20

(20 × 20)
400

2

(20 × 2)
40

4) 20×29 =

20

20

(20 × 20)
400

9

(20 × 9)
180

5) 23×20 =

20

20

(20 × 20)
400

3 (3 × 20)
60

6) 28×20 =

20

20

(20 × 20)
400

8 (8 × 20)
160

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)

Toán Học vn.CommonCoreSheets.com 9 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 460

2. 560

3. 420

4. 520

5. 440

6. 500

Dùng cách chia mảng để giải bài tính.

1) 23×20 =

20

20

(20 × 20)
400

3 (3 × 20)
60

2) 20×28 =

20

20

(20 × 20)
400

8

(20 × 8)
160

3) 20×21 =

20

20

(20 × 20)
400

1

(20 × 1)
20

4) 26×20 =

20

20

(20 × 20)
400

6 (6 × 20)
120

5) 20×22 =

20

20

(20 × 20)
400

2

(20 × 2)
40

6) 25×20 =

20

20

(20 × 20)
400

5 (5 × 20)
100



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)
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Câu  trả  lờ i

1. 460

2. 560

3. 420

4. 520

5. 440

6. 500

Dùng cách chia mảng để giải bài tính.

1) 23×20 =

20

20

(20 × 20)
400

3 (3 × 20)
60

2) 20×28 =

20

20

(20 × 20)
400

8

(20 × 8)
160

3) 20×21 =

20

20

(20 × 20)
400

1

(20 × 1)
20

4) 26×20 =

20

20

(20 × 20)
400

6 (6 × 20)
120

5) 20×22 =

20

20

(20 × 20)
400

2

(20 × 2)
40

6) 25×20 =

20

20

(20 × 20)
400

5 (5 × 20)
100

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)
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Câu  trả  lờ i

1. 520

2. 420

3. 440

4. 560

5. 580

6. 460

Dùng cách chia mảng để giải bài tính.

1) 20×26 =

20

20

(20 × 20)
400

6

(20 × 6)
120

2) 21×20 =

20

20

(20 × 20)
400

1 (1 × 20)
20

3) 20×22 =

20

20

(20 × 20)
400

2

(20 × 2)
40

4) 20×28 =

20

20

(20 × 20)
400

8

(20 × 8)
160

5) 20×29 =

20

20

(20 × 20)
400

9

(20 × 9)
180

6) 20×23 =

20

20

(20 × 20)
400

3

(20 × 3)
60



Họ và Tên: Lời giảiPhép nhân từng mảng (với thừa số 10)
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Câu  trả  lờ i

1. 520

2. 420

3. 440

4. 560

5. 580

6. 460

Dùng cách chia mảng để giải bài tính.

1) 20×26 =

20

20

(20 × 20)
400

6

(20 × 6)
120

2) 21×20 =

20

20

(20 × 20)
400

1 (1 × 20)
20

3) 20×22 =

20

20

(20 × 20)
400

2

(20 × 2)
40

4) 20×28 =

20

20

(20 × 20)
400

8

(20 × 8)
160

5) 20×29 =

20

20

(20 × 20)
400

9

(20 × 9)
180

6) 20×23 =

20

20

(20 × 20)
400

3

(20 × 3)
60

1-6 83 67 50 33 17 0
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